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gFjp μ   

• vy;yh tpdhf;fSf;Fk; tpil jUf' 

01' nghJ cWg;G  𝑻𝒏 = 𝟓𝒏 + 𝟐 Mf cs;s vz; Nfhyj;jpd; gj;jhtJ cWg;igf; fhz;f'  
 
         𝑇10 = 5 × 10 + 2 
          = 50 + 2 
          = 52 
 
02' 𝟏  𝟎  𝟏  𝟏  ,uz;L     ,id mb gj;jpy; jUf' 
 

 = (8 × 1) + (4 × 0) + (2 × 1) + (1 × 1)  
   =  11   

 

03' (𝒙𝟐)
−𝟑

× 𝒚𝟑   RUf;fp tpilia Neu; Rl;bahfj; jUf' 
 
     = 𝑥−6 × 𝑦3 

     =
𝑦3

𝑥6 

 
04' fPNo fhl;lg;gl;Ls;s fdTU tbtpyhd ghj;jpuj;jpd; nfhs;ssit yPw;wupy; jUf' 
 
    = 2𝑚 × 1.5𝑚 × 1𝑚 
    = 3𝑚3  
    = 3000𝑙 
 
 
 
05' (𝒙 + 𝟕)(𝒙 − 𝟑)   vd;gij milg;G ePf;fpr; RUf;Ff' 
 
       = 𝑥(𝑥 − 3) + 7(𝑥 − 3)  
    =  𝑥2 − 3𝑥 + 7𝑥 − 21 
    =  𝑥2 + 4𝑥 − 21 

06' 𝒙  ,d; ngWkhdj;ijf; fhz;f ' 
  3𝑥 = 2𝑥 + 400 
    𝑥 = 400 

 
  

 
 
 

 02 

1 

1 

 02 

1 

 02 

1.5𝑚  

2𝑚  

1𝑚  
 02 

1 

 02 

1 

1 

2𝑥  

3𝑥  400  

 02 
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W4  

𝐴   
𝐵   

 𝐶  𝐷   

𝐸   𝐹  

07' fPNo fhl;lg;gl;Ls;s gupNrhjid epfo;jfT vdpd; (√) FwpaPl;ilAk; epfo;jfT ,y;iynadpy; 
(×) FwpaPl;ilAk; milahskpl;Lf; fhl;Lf' 

 
1 njhlf;fk; 6 tiu ,yf;fk; Fwpf;fg;gl;l Nfhlhj jhaf;fl;ilia NkNy 
vwpAk;NghJ NkNy jpUk;gp tpOk; ,yf;fj;ijg; guprPypj;jy;'  

 

1>3>5 vd ,yf;fkplg;gl;l rkdhd %d;W kzpfs; cs;s ghj;jpuj;jpy; ,Ue;J 
vOkhwhf vLf;fg;gl;l kzp xd;iw xw;iw vz;zh vdg;guprPypj;jy;'  

« 

 
 

08' 𝟑𝟎 𝟖𝟎𝟎 I tpQ;Qhd Kiwf; Fwpg;gPl;by; vOJf' 
     = 3.08 × 10000 
     = 3.08 × 104 

09' ,ilntsp epug;Gf' 
 
    (𝐴𝐶 )2 = (𝐴𝐵 )2 + (𝐵𝐶 )2   
    132 = 122 + 𝐵𝐶2 
    169 = 144 + 𝐵𝐶2 
      25 = 𝐵𝐶2 

     √25 =  𝐵𝐶 
        (5𝑐𝑚) =  𝐵𝐶 
 
10' 𝒙𝟐 + 𝟑𝒙 + 𝟐    ,U fhuzpfspd; ngUf;fkhf vOJf'     
      = 𝑥2 + 2𝑥 + 𝑥 + 2 
    = 𝑥(𝑥 + 2) + 1(𝑥 + 2)   
    =  (𝑥 + 2)(𝑥 + 1) 

11' 𝐴𝐵𝐶𝐷>𝐶𝐷𝐸𝐹 vd;gd ,izfuq;fs; ,uz;L vdpd; 𝐴𝐵 = 𝐸𝐹 vd ntspg;gil cz;ikfis 
gad;gLj;jp fhl;Lf'^,izfuj;jpd; vjpu;g;gf;fq;fs; rkdhFk;'& 

    𝐴𝐵 = 𝐶𝐷 ^,izfuj;jpd; vjpu;g;gf;fk; & 
  𝐸𝐹 = 𝐶𝐷 ^,izfuj;jpd; vjpu;g;gf;fk; & 
  𝐴𝐵 = 𝐸𝐹 ^ ntspg;gilAd;ik& 

 
 
 

 

12' nrNd\; jd;dplk; cs;s &gh 1400 gzj;jpd; 
𝟑

𝟕
 ,id Gj;jfk; xd;iw thq;f nryT nra;jhd;' 

Gj;jfj;ij thq;Ftjw;F nryT nra;j gzk; ahJ? 

   = 1400 ×
3

7
 

    = 600 

13' fPNo jug;gl;Ls;s 𝐴𝐵𝐶𝐷 vDk; ,izfuj;jpypUe;J ℎ ,d; ngWkhdj;ijf; fhz;f ' 
 
    4 × ℎ = 8 × 3 
          ℎ  = 6𝑐𝑚  
 
 
 
  

14' 𝒙 =
𝟑

𝟒
 , 𝒚 = 𝟐  MFk;NghJ 𝟖𝒙 + 𝒚 ,d; ngWkhdj;ijf; fhz;f'  

    = 8 ×
3

4
+ 2 

    = 8 

15' 𝒗𝟐 = 𝒖𝟐 + 𝟐𝒂𝒔  vd;Dk; R+j;jpuj;jpy; 𝒂 I vOthahf khw;Wf' 
       𝑣2 − 𝑢2 = 2𝑎𝑠   

          
𝑣2−𝑢2

2𝑠
= 𝑎  

 02 

𝐴   𝐵   

𝐶    

12𝑐𝑚   

(igj;jfu]; njhlu;G) 
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1 
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16' fPNo jug;gl;Ls;s cUtpypUe;J 𝑥>𝑦 ,d; ngWkhdj;ijf; fhz;f' 
       𝑥 =  800  ^ Neaf;Nfhzk; & 
    𝑦 =  400  ^ xj;jNfhzk; & 
 
 
 
 
  

17' &gh 2000 ngUkjpahd ghjdpr; Nrhbia nfhs;tdT nra;Ak;NghJ 10% fopT fpilf;fg; 
ngWk; fopTj;njhifia fhz;gjw;fhd tpQ;Qhd Kiw fzpdp fzpg;gPl;bid gad;gLj;Jk; 
tpjkhdJ fhl;lg;gl;Ls;sJ. mjpy; ,ilntspfis G+uz gLj;Jf' 

 
 
 
 
 
 

18' 𝐵 ,ypUe;J 𝐶 ,d; jpirNfhy; 1500 jpirNfhy; 150⁰ vdpd; 𝐵 ,ypUe;J 𝐴 ,d; jpirNfhisf; 
fhz;f' 

   =  1500 + 900 
   =  2400 
 
 
 
 
 
 
 
 
19' gz;iz xd;wpy; Fwpj;j rpy jpdq;fspy; vLf;fg;gl;l Kl;ilfspd; vz;zpf;ifapy; ,Ue;J 
jahupf;fg;gl;l $l;lkhf;fg;gl;l vz; guk;gyhdJ gpd;tUkhW fhl;lg;gl;Ls;sJ'  

 
 
 
 
 
 
 

 

Kl;ilfspd; 
vz;zpf;if   

30-39 40-49 50-59 60-69 70-79 

ehl;fspd; 
vz;zpf;if  

3 7 12 8 5 

20' fPNo jug;gl;Ls;s cUtpy; 𝐴𝐵>𝐵𝐶 gf;fq;fSf;F rk J}uj;jpYk; 𝐵, 𝐶 Gs;spfSf;F rk 
J}uj;jpYk; mike;Js;s Gs;spia 𝑃 vdg; ngaupLf. 
 
 
Nfhz ,U$whf;fpia mikg;gjw;F 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

𝑥  

1000  𝑦  

400  
1 

1 

 02 

𝑜𝑛 2  0  0  0  ×  1 0  𝑆𝐻𝐼𝐹𝑇   = = 

 02 

W  

𝐵  

𝐴  

W  

𝐶 

t 

t 

 02 

1 

i)  Mfhu tFg;G ahJ? 
50 − 59 
ii)  60 Kl;ilfSf;F Fiwthf ngwg;gl;l 
ehl;fspd; vz;zpf;ifiaf; fhz;f  

3 + 7 + 12 = 22 

  

1 

1 

𝐵  

𝐴  

𝐶  
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gFjp II  

01' 
a) i  1800 
 
     ii  
 
 
 
 
     iii 1800 × 4 = 7200 
 
     iv 1800(𝑛 − 2) 
 
     v 9000 = 1800(𝑛 − 2) 

 
9000

1800 =
1800(𝑛−2)

1800  

      5 = 𝑛 − 2 
               7 = 𝑛  
b) i  

   w&  
3600

360 = 10 

     
     wd& 1800 − 360 = 1440 
 
    ii 𝑥 =  750 
       𝑦 = 500 + 300 
           = 800 
 
       𝑧 =  3600 − (800 + 750 + 750 + 800) 
          =  500 
 
02' 
    a)i tpiyfSf;fpilapyhd tpfpjk; = 500: 750 
 

                 = 2: 3 
 
Nghj;jy;fspd; vz;zpf;iff;fpilapyhd tpfpjk; = 2: 3 
 
     vdNt Nghj;jy;> tpiyfSf;fpilapyhd 
tpfpjk; Neu; tpfpjk; MFk; 
 
   ii  ghz Nghj;jy;fs;     tpiy  
 

2   500 
 

8  𝑥  
 
   2𝑥 = 500 × 8 
     𝑥 = 2000 
 

,yhg rjtPjk; =
50

200
× 100%  

 
 = 25% 
 

            ngWkjp  =
50×2750

275
 

                    = 500 

 

b) 
1

4
÷ (

5

6
−

1

2
) 

   

   
1

4
÷ (

5

 6
−

3

6
) 

 

  
1

4
÷

2

6
 

 

  
1

4
×

6

2
 

 

  
3

4
 

 
 
03' 
a)i 𝐴 = {3,6,9}  
   𝐴 ∩ 𝐵  = {3,9} 
   𝐴 ∪ 𝐵 =  {1,3,5,6,7,9} 
 
  ii 
 
 
 
 
   iii cz;ikaw;wJ  
    ,U njhilg;gpuptpYk; nghJthd cWg;G 
fhzg;gLtjhy; ,J %l;lw;w njhil ,y;iy 
 
b) i 𝑆 = {1,2,3,4,5,6,7,8,9,10,11,12}  

 

   ii  
2

12
=

1

6
 

 
04' 

  i    
1

2
× 2 ×

22

7
× 70𝑚  

     = 220𝑚  
   
  ii 220𝑚 + 140𝑚 + 152𝑚 + 80𝑚  
      = 592𝑚 
    

    Iii ikjhdj;jpd; g/T   =
1

2
× 2 ×

22

7
× 70 × 70𝑚2  

                                   = 7700𝑚2 
 

       fl;llj;Jld; epyj;jpd; =
(80+140)

2
× 140𝑚2 

    g/T 
                            = 15400𝑚2 

 
 2 × 7700 = 15400 vd;gjhy; mjpgupd; $w;W 
cz;ikahFk; 
 

iv  =
1

2000
× 80𝑚  

 
   = 4𝑐𝑚  
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05' 
  i 12 

   ii 
25+1

2
 k; <l;L 

    
   = 12 
   iii  

Njq;fha;fspd; 

vz;zpf;if 𝑥 
kuq;fspd; 
vz;zpf;if  
𝑓 

𝑓𝑥 

10 2 20 
11 4 44 
12 8 96 
13 5 65 
14 3 42 
15 2 30 
16 1 16 
 25 313 

 
 

,il   =
∑ 𝑓𝑥

∑ 𝑓  
 

 =
313

25
 

                   = 12.412 
 = 12 
 
iv tUkhdk; = 12 × 80 × 60 
 = 57600 
 
 
06' 
  i𝐴𝐵 = 6𝑐𝑚  

  𝐵𝐴̂𝐷 =  450 
  𝐴𝐷 = 6𝑐𝑚  
 
  ii 𝐴𝐵     ,d; nrq;Fj;J ,U$whf;fp  
    𝑂   itf; Fwpj;jy;  
    𝐶  iaf; Fwpj;jy; 
 
  iii tl;lk; mikj;jy;  
 
  iv 𝑂𝐶 ̂𝐷  = 1350 Kf;Nfhzpapd; gf;fnkhd;iw 
ePl;Ltjhy; cz;lhFk; Gwf;Nfhzk;. 
 

 
07' 
a) i ntl;Lj;Jz;L = 1 

ii 𝑦 = −𝑥 + 2  
 
        iii −2𝑥 ≥ −5 

 
−2𝑥

−2
≤

−5

−2
 

 𝑥 ≤ 2.5 
 

ngupa Neu; epiw vz; = 2 
 
 

b) i 
2𝑥−1

2𝑥−3
−

𝑥

2𝑥−3 
 

 

         
2𝑥−1−𝑥 

2𝑥−3
 

 

        
𝑥−1

2𝑥−3
 

 
    ii  3𝑥 − 2𝑦 = 9  
        −𝑥 + 2𝑦 = 1 
 
       (3𝑥 − 2𝑦) + (−𝑥 + 2𝑦)  = 9 + 1 
 
 2𝑥 = 10 
 𝑥 = 5 
  𝑥 vdpd; rkd;ghL    ,y; gpujpaply;  
 

 
    3 × 5 − 2𝑦 = 9 
 
 15 − 9 = 2𝑦  

6 = 2𝑦 
 
  3 = 𝑦 
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